Name: 5-a-day Further Maths

1st June * |
T biect of x—4y L Corbettmotths
ake y the subject o = . d = |
y | np P Y= Py + 2,::(
(1=2p) = y(ptu)
y = (i ~2p)
p+h
The lines LM and NP are perpendicular
y x =10 The line NP has equation y — 3x = 2
P A is the point with coordinates (0.9, 4.7)
R
\ ( ) Find the area of triangle ABC.
B (10,32
/ B v - 30= =3 = 3°
’ gm30=2 2 y32
) NP. tj:3;(+2_.=> mln“-:%-
} oy e T —J(x—-0.
/ 04 \C(ro E)x LM.j W T = '3*(1 0-9)
13 -
- ~ b 3F==dxq D y=2
) \ 3 3%y 3
Mmoo |Brea=Sx(32- 5319
- B
= 1382
Sketch the graph of y = 80X 27 Y
Label the coordinates of any points of
intersection with the coordinate axes. .‘_{32‘____
O X
y =6x2—5x+2 9&{___]23(_5
p dx
Findthevalueof——y when x =—4 X==l = ‘fL_“i-:-Sfj
dx o x

© Corbettmaths 2019

www.corbeitmaths.com




